§ Capital Annual Efficiency  Capacity Lifetime Internal Resource
b= cost of operation factor consump- potential
£ EPC and main- tion
= tenance
<
cost

Ch Co Cs Cy Cs Cs Cr
ai (3000,6000) (30,60) (11.4,11.4)  (15,25) (20, 25) (5,5) 1000
as (3000,6000) (30,60) (11.4,11.4)  (15,25) (20, 25) (5,5) 1000
as (3000,6000) (30,60) (11.4,11.4) (15,25) (20, 25) (5,5) 1000
a4 (3000,6000) (30,60) (11.4,11.4)  (15,25) (20, 25) (5,5) 1000
as (3000,6000) (30,60) (11.4,11.4)  (15,25) (20, 25) (5,5) 1000
ag (3000,6000) (30,60) (11.4,11.4)  (15,25) (20, 25) (5,5) 1000
ar (3000,6000) (30,60) (11.4,11.4)  (15,25) (20, 25) (5,5) 1000



